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Chapter 7.1-7.3 Quiz A Exponential Expert

Calculator.

Use the following formulas to answer the problems below.

A:P(uf—] A=Pe"  A=P(+r)  A=P(-r)
1

I.) You buy a commemorative coin for $110. Each year the value of the coin increases

by 4%.

How much 1s the coin worth after 10 years’ Ao 8 ﬁ 1

+-1D

2.) You buy a stereo system for $750. Each year the value of the stereo system decreases
by 5%.

\ L -‘t
Equation: e [ = «"’3(: \ \).‘:’ ﬁ = ) S0 ( | — OCDB

I ‘A_M

Equation:

How much is the stereo system worth after 3 years? ﬁﬁ \.&q’% O?ﬂ
£72

3.) You dep051t $1600 into a bank account that pays 2.5 % interest compounded

Eqion QH2Y (W
What is the balance after 3 years‘{& VM. b , =5 035 &
When will the balance reach $2000. -‘ ‘-'Zq gm,s 2000+~ | \OOO e, e
Ayl and ercor Vs e.,OZ‘:»

4.) You deposit $2500 into a bank account that pays 5% interest compounded quarterly.
OS5\ 1t
Equation: p‘ 950{ \ il ﬁ

What 1s the balance after 4 years? ‘L’, L\ Jx 50 L"O( Tl )

When will the balance reach $4000. ( ‘ +'_9_€ e




Chapter 7.1-7.3 Quiz A
No Calculator.

Exponential Expert

Explain why.

Determine if the equation represents an exponential growth or decay.
- e
L) y==-Q)"" 2)y=3|3
2 A \ 2
0
Growth Decay,
o> | DLp L o
1 2 x+4 (4\x
5e) YE={ = 2 4) y=—|—=1| -3
i yEsiy) * )y \{3\ )
Decowny, YO nda
DLp&N 7P

Graph each of the following. Give the equation of the asymptote and state the

domain and range. Label at least two points.

5) y=2(3)" +2

x-2

|
6.)y=4—-| +3
)y -

luchon
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